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X=L X=Xo u

u(x) = Alé k(xi xo) 4 Azei jK(Xj xo);

AL Az z x=1L
x=1L Un(L) + jkzu(L) = O
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2 Ag@klbixo) j ppei Tk(Lixo) =7 ppdk(bixo) 4 pyel Th(Li xo)
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u U:x Xo
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u(xe) = A1+ A,
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A1 Az u(xo)
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2 20







fx,

@e(Q2) | @m(Qa)

X=b
fxy, x=a
2, le 1 fX2 | Z2
\' — : — 1
| i I i |
i L1 a d b Lo X
d kd
Q 2Q
Q
Q2
P>
@ . @ _ o



P>
1 a
P2 = ERe(szz);
P2
Zij = pi:Qj i = 1;2 j = 1;2
P2 = Z21Q1 + Z22Q5:

p Q
_J12Q .
P= " ®
Q20 .
Q= A€”Q;
A A
Y
A = 1=(2kd)
A = (kd+ ¥&2):
P
XxX=Db )
=t u®(b);
2= 1 2 X2 ’
u A
Ax) = (17 H(xi d)Ai(x)+ H(xi d)Ay(x);
) , f
A1(x) = cicogkix) + Csin(kax) + (cos(ky(X i a)) | 1)%%H(Xi a)
) . f
Ag(x) = cgcogkox) + casin (kox) + (cos(ka(X | D)) i 1)1/;,22H(Xi b);
Z;
Zz X=Los x=d

CL C C3 Cq
fx, u
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